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  اختبار الثلاثي الأول       
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  )٦( التمرين الثاني
  

<I<íÚøÃÖ]<Ä•çe<ívév’Ö]<ì…^fÃÖ]<°Â<<E�<D<<<g‰^ß¹]<á^Ó¹]<»J< <
١. <íje^m<ìçÎ<ØÛÂ<ì…^fÂF<ÐÊæ<^ãÏéfŞi<íŞÏÞ<ØÏjßi< AB <Ù^ÏjÞ÷]<ÄÚ<Äß’iæAB<<íèæ]‡<α< <

� W= F BAB<Bcos(α) � W= F BAB<Bsin(α)<� W= F BAB<Bα<
٢. <íŞÏÞ<àÚ<ä×Ïm<ˆÒ†Ú<Ù^ÏjÞ]<‚ßÂ<ÜŠq<ØÏm<ØÛÂ<ì…^fÂA<íŞÏÞ<±c<B J< <

� W= P (zA+zB)<� W= P (zB - zA)<� W= P (zA- zB)<
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٤. <íÂ†ŠÖ]<‹ËÞ<°ÛŠ¢<á^Ò<]ƒ]v١= v٢<^Ûãéj×jÒ<°e<íÎøÃÖ]æ<m٢ =١ m٢<<J<<íéÒ†£]<^ÛãéjÎ^�<°e<íÎøÃÖ]<áçÓiV< <
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   التمرين الثاني
  

<I<íÚøÃÖ]<Ä•çe<ívév’Ö]<ì…^fÃÖ]<°éÃi<<E�<D<<<g‰^ß¹]<á^Ó¹]<»J< <
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   التمرين الثاني
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